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Please check that this question paper contains 16 printed pages.

Code number given on the right hand side of the question paper should be
written on the title page of the answer-book by the candidate.

Please check that this question paper contains 34 questions.

Please write down the Serial Number of the question before
attempting it.

15 minutes time has been allotted to read this question paper. The question
paper will be distributed at 10.15 a.m. From 10.15 a.m. to 10.30 a.m., the
students will read the question paper only and will not write any answer
on the answer-book during this period.
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General Instructions :
@) All questions are compulsory.

(i) ~ The question paper consists of 34 questions divided into four
sections — A, B, C and D.

(iti)  Section A contains 10 questions of 1 mark each, which are
maultiple choice type questions, Section B contains 8 questions of
2 marks each, Section C contains 10 questions of 8 marks each
and Section D contains 6 questions of 4 marks each.

(iv)  There is no overall choice in the paper. However, internal choice is
provided in one question of 2 marks, three questions of 3 marks
and two questions of 4 marks.

) Use of calculators is not permitted.

e A
SECTION A
¥oT He@d 1 8 10 7% ¥ F9T 1 3% F 8 | J9T G 1§ 10 § 59F 59 ¥
fore @/ faFe &g 1T & fr @ d9 ww w6 8 | el faeey gw
Question numbers 1 to 10 carry 1 mark each. For each of the questions

number 1 to 10, four alternative choices have been provided, of which only
one is correct. Select the correct choice.

1. 3% oo wiew mx? + 2x + m=0F Q@ §9H 0 &, @ m F 9A

A): -~ F1
B) 02
@y 01
D) -1,0
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2. wHiw 44 V18, V50, V98,
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The next term of the A.P. V18, /50, Vo8, ... is
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(D)
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0 has two equal roots,

3. gk 1%, PQ U PR, ¥% A9 gv @ @yl Yerd ¥ | A £ QPA=27°%,
Z QAR ® WH 2

(A)
(B)
©
(D)
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[image: image4.jpg]In Figure 1, PQ and PR are tangents to a circle with centre A.
If £ QPA = 27°, then £ QAR equals
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Figure 1
(A) 63°
(B)  153°
(C) 126°
D) 117

4. o 2%, AB @9 AC, W g9 % WY Y@ ¥ fwe #x O @ a4 e 8 Wl
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[image: image5.jpg]In Figure 2, AB and AC are tangents to a circle with centre O and
radius 8 cm. If OA = 17 cm, then the length of AC (in cm) is

[¢]
Figure 2
(A) 353
B) 15
e 9
D) 25

5. argfr 3%, 7 W oW A T 96 % o feeve, s ST 60°, 80°

a9 40° §, SEHT BT T § | DEifEd 9 W Sk (it a9 ) ?

i =

@A 77
(B) 154
(C) 44
D) 22
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[image: image6.jpg]In Figure 3, three sectors of a circle of radius 7 cm, making angles of
60°, 80°, 40° at the centre are shaded. The area of the shaded

region (in cm?) is [Using & = ?]

Figure 3
(A TY
B) 154
(C) 44
D) 22

40 F I TH T F gAER R R e 24 9 g 15 ¥ ¥ | A @
firde e (Ift ) @

(A) 51
(B) 49
© 43
D) 41

The radii of the circular ends of a bucket of height 40 cm are 24 c¢m
and 15 cm. The slant height (in cm) of the bucket is

A) 51
(B) 49
©) 43
D) 41

T FEER AR & U ¥ 15 N [ fod © g @ 4R & AR & 3w o
60° % | AR # s (el A) @

A) 543
(B) 1543
©): - 15
D) 75
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[image: image7.jpg]From a point on the ground, which is 15 m away from the foot of a
vertical tower, the angle of elevation of the top of the tower, is found
to be 60°. The height of the tower (in metres) is

(A) 543

B) 153

) 15

D) 175

s e e ¥ (5, 0), (8, 0) 79 (8, 4) 8, = dwer (af T ) @
(A) 20

(B) 12

© 6

D) 16

The area of a triangle whose vertices are (5, 0), (8, 0) and (8, 4)
(in sq. units) is

(A 20
B) 12
C) 6

(D) 16

afe AL, 3), B(- 1, 2), C(2, 5) 71 D(x, 4) T §Hiek st ABCD ¥ vif &, ar
X S AT %

V-V

(B) 4

€ o
3

D

(D) 5

If A1, 3), B(-1, 2), C(2, 5) and D(x, 4) are the vertices of a
parallelogram ABCD, then the value of x is

A 3
B) 4
(1]

3
(D =
(D) 2
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The probability of a non-leap year having 53 Mondays is
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SECTION B

TV G 11 § 18 7% JOF YT & 2 3% § |
Question numbers 11 to 18 carry 2 marks each.

11. k & 98 99 9 i, s fag e e
k-4)x®+2k-4)x+2=0 F 70 T4 & |
Find the value of k for which the roots of the quadratic equation
(k- 9)x® + 2k - 4)x + 2 = 0 are equal.

12. TH TG A H T T 12 T E-3IR 6 2 | A 59 4G a0 s v 252 8,
@ T 7 UE FI R |

In an AP, the first term is 12 and the common difference is 6. If
the last term of the A.P. is 252, find its middle term.
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21

The incircle of an isosceles triangle ABC, with AB = AC, touches the
sides AB, BC and CA at D, E and F respectively. Prove that E
bisects BC.

mmaamﬁﬁa@wﬁmma@gﬁ@wm%,w
firg ™ wEfgfoT & 2 1

Prove that in two concentric circles, the chord of the larger circle,
which touches the smaller circle, is bisected at the point of contact.

2 aﬂ?ﬁh&ﬁ,@mwwuwoéﬁqman%uwuu ¥ o & ¢ for
4A0B=90"%WA0=OB=42%1'TT%ldw%dwwﬂm‘ﬁwwq B

ﬁﬁql[n:%ﬁf@(]

A B
ST 4

AFgan

a@ﬁsﬁ,mmm%awmw,u&mcn,zsaﬁwm@
af 3 9e1 APD 3t BPC 3-3d ¢ |
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[image: image10.jpg]In Figure 4, the shape of the top of a table is that of a sector of a
circle with centre O and £ AOB = 90°. If AO = OB = 42 cm, then

find the perimeter of the top of the table. [Use m = %]

A B

Figure 4
OR

Find the area of the shaded region in Figure 5, if ABCD is a squari
of side 28 cm and APD and BPC are semicircles.

Figure 5

16.k T I, T I W AR U F R F 2, T TR @ freand
| AR e qan ¥ig F 9 UEE Gane 9 €, O F @ Ao aw s
S T F |

A solid is in the shape of a cone mounted on a hemisphere of sa
base radius. If the curved surface areas of the hemispherical part a

the conical part are equal, then find the ratio of the radius and
height of the conical part.

17. 98 3 9 Hifwe, s x-sm1 fmgall (1, — 3) 791 (4, 5) 9 frem &
S e T g |

Find the ratio in which the line segment joining the points (1, —
and (4, 5) is divided by x-axis.
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A child has a die whose six faces show the letters as given below :

A B C A D A

The die is thrown once. Find the probability of getting
i A
(i1) D
s |
SECTION C

Yo T 19 § 28 a% Aw T % 3 ¥HF & 1
Question numbers 19 to 28 carry 3 marks each.

19. x ¥ fou g HfS : ;
| 443 % + 5x - 243 =0
Solve for x :

43 X +5x-243 =0

20. Y ¥4 40 HA-YUNE H AT T HOC ST 6 F ST ¥ o
Hgan

o e G SF F A T H AR T I 183 | F 18 T F WA &, A
5@ 9 & 2291 U W HNT |

Find the sum of first 40 positive integers divisible by 6.
OR

If 4 times the fourth term of an A.P. is equal to 18 times its 18
term, then find its 22" term.
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Two tangents TP and TQ are drawn to a circle with centre O from
an external point T. Prove that £ PTQ = 2 £ OPQ:

OR
In Figure 6, XY and X'Y’ are two parallel tangents to a circle with

centre O and another tangent AB with point of contact C intersects XY
at A and XY’ at B. Prove that £ AOB = 90°.

X P AY
<« —
(0]
‘C
X Q B b 44
Figure 6
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Draw a right triangle in which the sides (other than the hypotenuse)
are of lengths 6 cm and 8 cm. Then construct another triangle whose

sides are % times the corresponding sides of the given triangle.

ax@ﬁnﬁ,7ﬁ*n°rgmwarfABCD%lDPBAWDQBc,qﬁ%agm%,
R X s @ Bew 7 A 8| ot & w1 e i i |

[Rt= % sl
D c
M
P
Q
A —=llp
ST 7
Agar

s uE F e @ gE A TR 14 ¥ 2 | 3@ gE g 10 e # dEa A
| Fe | [n= % wifse )
In Figure 7, ABCD is a square of side 7 cm. DPBA and DQBC are
quadrants of circles, each of radius 7 cm. Find the area of the shaded
A 22
region. [Use m = 7]
D"'\‘T——_‘ # o]
P

Q
QU

Figure 7
OR

The length of the minute hand of a clock is 14 cm. Find the area

swept by the minute hand in 10 minutes. [Use © = 2—72]
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A sphere of diameter 6 e¢m is dropped into a cylindrical vessel, partly
filled with water, whose diameter is 12 cm. If the sphere is
completely submerged in water, by how much will the surface of
water be raised in the cylindrical vessel ?

TH 50 M. ¥4 TR F AR ¥ @ @Y F ARR F s B 45° @ o @
R H TR F R H I B 60° # | G A e Wi AR, s 2
G @ AN T & gHaE W @ § |

From the top of a tower 50 m high, the angle of depression of the
top of a pole is 45° and from the foot of the pole, the angle of

elevation of the top of the tower is 60°. Find the height of the pole if
the pole and tower stand on the same plane.

ko (k>0) ¥ fw w s R 9 (-2, 5), (k, —4) @
(2k + 1, 10) ¥, F &%t 53 &7 39S & 2

For what value of k, (k > 0), is the area of the triangle with vertices
(=2, 5), (k, —4) and (Zk + 1, 10) equal to 53 sq. units ?

& I AT HC R y-om, fgI (5, - 6) T (~ 1, - 4) B T A
‘aravs F e S @ 1 Sfs g % i o i Bk |
Find the ratio in which the y-axis divides the line segment joining

the points (5, —6) and (-1, —4). Also find the coordinates of the
point of intersection.

@ & F 1,35 .., 101 FET T ST E @ TR | T e @) s
wﬁaﬁ%m,ﬁéﬁﬁm@m@aﬂéﬁWWIMaﬁWﬁﬁ
e T W sifE He ()19 ¥ F7 & | (i) 20 ¥ FH, T W T
Gl

Cards marked with numbers 1, 8, 5, .., 101 are placed in a bag and
mixed thoroughly. A card is then drawn at random from the bag.
Find the probability that the number on the drawn card is (i) less
than 19. (ii) a prime number less than 20.
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SECTION D

99T G 29 § 34 TF TIF T F 4 5% & |
Question numbers 29 to 34 carry 4 marks each.

TF IR S F WY 991 1SS TS H AGA 24 @ 941 S BS 741 6 W H
ATHT 44 8 | 39 A & 49 10 T F G0 A HIAC |

The sum of 4 and 8™ terms of an AP. is 24 and the sum of its 6%
and 10 terms is 44. Find the sum of first ten terms of the A.P.

Q) sl & T GO & S w ERA 14 8 | 59 GEU ¥ 45 e foar i, @
3% ST W e o € | ¥' i e |
srar

q FAE WHA GO i g A i F Ahe 145 2

A two-digit number is such that the product of its digits is 14. When
45 is added to the number, the digits interchange their places. Find
the number.

OR

Find two consecutive natural numbers, the sum of whose squares is
145.

fos HT 6 ga & e fag ® i 1 et Y, wet fag & & & S At
s | o At R |

Prove that the tangent at any point of a circle is perpendicular to the
radius through the point of contact.

e Th @ SR e 9t s W SR Y % SR & § | AR
fadin & e 231 59 W 2 q oHw 7 @ B, @ foeld @ SR §w

ml[n=27—2ﬁﬁﬂ€]
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A toy is in the shape of a cone mounted on a hemisphere of same
base radius. If the volume of the toy is 231 cm3 and its diameter is

7 c¢m, then find the height of the toy. [Use m = 7]

OR

The radii of internal and external surfaces of a hollow spherical shell
are 3 cm and 5 cm respectively. It is melted and recast into a solid
cylinder of diameter 14 cm. Find the height of the cylinder.

THl G # T e 14 W SR Ao T UG % fouw F R W R | 36
3 garr falt & o 16 S @or 12 W & | 39 fremw 9 aRer 99 B |

22
= =2 <ifs ]
§
A drinking glass is in the shape of a frustum of a cone of height
14 cm. The diameters of its two circular ends are 16 ¢cm and 12 em.

Find the capacity of the glass. [Use © = %]

T T R § 9ft W Rad wF fag A w1 s @7 30° 8 | fg AR ZER
& U F SR 20 F. F g W 1 forg B 2R F R & I A7 60°
? 1 T A S A g g A g8 I SR

The angle of depression from the top of a tower of a point A on the
ground is 30°. On moving a distance of 20 m from the point A
towards the foot of the tower to a point B, the angle of elevation of
the top of the tower from the point B is 60°. Find the height of the
tower and its distance from the point A.




